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A=(25) € My(R) ZHFMTII L IFU & 5. EBIEAREHAV S &
A=T(2E)=(25)=A

b ¥d (EEMHEMECEERICR) ET).
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(A(3),(3)) = ax® + 2cxy + by?
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R2 OBESE U Lo C? fBEH
f: U—R

PDEZENTWEEE, PecUIIHLT

fix(P) fio (P
HOP) = (56 50)

Z f D PITBI S Hesse [THI L FNE T, Young DIEHD &
fy (P) = £x(P)

AL L ETH S, H(F)(P) BMFTHITT.
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Po(a,b) € U, v =(5§) € R2iZxf LT 1 ZHEBIEE Pe(a + ta, b+ tB) ZHWT
F(t):=f(P¢) = f(a+ at, b+ (t)
CERLET. ZOLEFOP BB VAROD 2 FEMSIE

F(t) = (H(f)(P)v, V)
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MFMTHNA(Z5) DIED B 2 KIEI (AV, V) KIEEETH % &1

(AV,7) >0 (V#3)

E
(AV, V) DIEEE < a>0, |[Al=ab—c® >0
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[E%mqeRKﬁLfquQp+q:0¢p:q:0

2 2 c \? 2 ¢
ax“ + 2cxy + by :a(x+gy> + by -2V

c\2 ab—c?,
:a(x+—y> + y >0
a a
ZBWT, REONEFESDESHILEMIZ
2 b — 2
a(x—l—Ey) _? Cy2:0<:>x+§y:y:0(:>xzy:0
a a

WEoTxA0FREy #0%51F ax® +2cxy + by? > 0
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0<((25)(3).(3)=alEETS. H5ICa>0DFT

b— 2
BT S 0eab—c2>0

DB ab—c2>0DBEVET.
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st
(AV, V) BEEME < (AV,V) <0 (V#0)© a<0, |Al=ab—c®>0
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